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2 Volume of solid formed when S is rotated completely
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= n(a)2 (2a)-V, [M1] Expressing volume as
16 a difference.
=2na’ ——na’
15
_14 14
—Ena [A1] Enai
3(i) y
r =14 2sinf
N Y= cosd, —ZSSS;T- [B1] Shape of curve
2
|
| [B2,1,0]
! x Axial intercepts
-1 0 1 2 3
When y =0, cos«9=0:>¢9=i%. Hence,
x=1+ Zsin(—sz—l or x=1+ Zsin[zj:&
2 2
. . 1 i
When x=0, 1+23|n¢9:0:>sm6?:—5:>¢9:—g.
Hence y = COS(—EJ = £ .
6 2
3(i)| when x=2, 2=1+2sin0 = 9:%.
Area of region
=EC°59(2C059) do [M1] Method of
6 substitution.
= ZJ‘E cos’ 0 dé [A1] Zﬁ cos’ 0 d6.
6 6
= [,cos20+1d6
6
L2040 : 1 s
—| e [A1] {—sin 29+9J .
- 6 2 _n
1 T T T
= Esmz E - —sm2 mry + “%
[A1] V3, 7
V3, = 2 3
2 3

Applications of Integration (Definite Integrals) Page 3 of 3



